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0 - | 43451 16.9%
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o5 20 A 12 500 1,250.3
20 15 1,250.7
15 10 1,249.8
10 5
5 2.5
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9 2214.078 cnf 5892.9 g
] T 1 2.734
(A B4+E )57 () 1| 10642.3 I 9 | 11020.9 I s | 11274.2
{ i
HeN a7 (g) 4749 .4 | 5137.0 | 5381.3
AT Y t(g/cn) 2.145 i 2.320 i 2.430
W | 1417.5/DW: e | 1330.7/DW: W 1469.5|DW:
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3X17 37 9611.8| 4571.0| 5040.8| 2209.21| 2.282 | 6.2 2.149| 32
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S S 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
fkg 5 0 69.2| 126.0| 189.2| 254.5| 321.6] 389.5| 525.1 665.3| 1013.1] 1323.2
= ]_]:
17 |SrEeEl 3.5 6.4 9.6 13.0 16.4 19.8 9.8 33.9 51.6 67 .4
(kg f/
=] == ]_]:
?Mﬁ/ﬁf; 0 0.345|  0.629| 0.945 1.271] 1.608] 1.945] 2.622] 3.322] 5.059 6.607
Z{g 5 0 90.0| 143.2] 203.9] 272.1 346.1 428.2| 605.4| 804.7| 1353.2| 1880.7
=] == ]_]:
49 O(f,;%ff 0 4.6 7.3 10.4 13.9 17.6 91.8 30.8 41.0 69.0 95.8
=] == ]—T:_
?M”Ij;‘;n; 0 0.440| 0.715|  1.018]  1.359| 1.728]  2.138  3.023]  4.018)  6.757]  9.302
fkg J 0 95.8| 147.1] 208.5| 281.9] 357.6| 448.8| 661.3| 920.3| 1637.6| 2107.2
=] == ]—T:_
02 °(g7°f/* 0 4.9 7.5 10.6 14.4 18.2 92.9 33.7 46.9 83.4]  107.4
=] == ]—T:_
?M”Ij;‘;n; 0 0.478|  0.735|  1.041] 1.408] 1.785| 2.241] 3.302| 4.506| 8.177] 10.523
17 3 (2.5m) é'g <100 = 23.3% 5. Omm 50'33 <100 =  32.3%
42 3 (2.5m) é; <100 = 25.0% 5. Omm 140-03 <100 =  39.0%
92 3 (2.5m) ég <100 = 25.9% 5. Omm 140-63 <100 =  44.6%
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